Dr Oliver Mathematics
Worked Examples
Length 5

From: Nice Math, 8 March 2024

1. The red area is equal to the blue area
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the red area is equal to the blue area
z® = 1(10)(20 — 2)

7 =5(20 — x)
2% =100 — 5z
2% + 5z = 100

2* + 5z + (2)? =100 + (3)°
(z + 3)* = 1044

10 cm

x = —12.807764 06, 7.807 764 064 (FCD).

Well, we want the positive solution (why?). Hence,

x =T7.81 cm (3 sf).

Where does the negative solution come in? Well,
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and you can check the the red and blue areas are exactly the same.




